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KIDS

10& YOUNGER

00000000000 $9 00000000000

DRINKS

Choice of: Rocky Mountain Natural Soda,
Local Milk or Orange Juice

MAIN COURSE

All meals served with Fries, Fruit, Veggies & Organic Ketchup

PEPPERONI & CHEESE FLATBREAD +QF+
Tomato Sauce & Basil

WAGYU BEEF SLIDER *GF+
Merkts Cheddar, Brioche Bun

CRISPY CHICKEN STRIPS +[{F+
Sesame Ranch

MAC & CHEESE
Peas

CHEDDAR CHEESE QUESADILLA
Avocado

POPCORN SHRIMP +[(F+
Lemon

DUCK MEATBALLS +GF+
Lingonberry Jam

DESSERT

Scoop of House-Made Ice Cream

BY REQUEST?: @ AVAILABLE VEGAN  *+(F< AVAILABLE GLUTEN-FREE

Please let your server know if your child suffers from any food allergies.
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